National Testing Agency

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part A

Sociology Hin 10th June 2023 Shift 1
Sociology Hin

2023-06-10 16:05:51

120

400

Yes

Sociology
1

920906100
0

120

No

No

0

400

No

Cant View
No

920906199
1

Online
Mandatory
21

21

100

Yes

0

1
920906323
No

null



Question Id : 92090610022 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

gt S%pd § ‘IULN’ Usg ST UGN 8idl Xel & fog fe=al H 391 3d UdheH 98d T ¢ |
U (IY+ 1+ 3/ Agur+u9) &1 31y § — gadiupy, [daR, dadsd, Udrd, YiHe1, Uwdra,
e Tar anfe | Fee TEAr o o & Iuu WY Uafd &= fomr 9 € | 53 uifgfds
faen &1 & N Y1, ARAAH], TRSHUT, IuHYT 3fe I off S o1 HIR™ Hd € | fbg
U I I SIS R Bl Dl Al & |

IUAN' Yeg Bl UGl Ada’ & 3 T yai s a1 Ugd Afdd diaepwr v § | =l
Ul @ QR BIgal | Udl @l @ fb 39814 Sle-ds A1 U @1 391 B g | ugd
U &1 M IYUH’ eg ford §U € — TWeUHYT SUART' GO IUUN &1 9 g T o
U A EF1 R € | R 3P 0¥ B Rl uir @R 1879) iR =<l udur (13
1882) T @1 ol HFhdl ¢ | o eI’ (1886) &1 YHi®1 T I ol & - U8 Iuu 6
1886 P gl Uiy Pl foIeg] & P& (b 7 U 4 U1 5 AYT FHAd [RIBIHR BT I
I Y & Uil S IUeR H die fagr man o1 1 fe=idiare meand A worid-t uRomr (1890)
& QUIGHd H ‘IULN’ Xs &1 WART fHar € | 89 1903 H ar] M= Yaad 4 Ayl d
JUUN R UF o ferr |

UHES A IUATd &1 ufeHIfa #id gU forar @ — & Iu=ard &1 AHa-aRa &1 fom o angidn
g | AF—aRa R USRI Sl 3R 39 W™l &1 Giadl & IR &1 Jd ad ¢'| 9=
Ugd JHGUIE gurdard IuESR 4, dg § gyrdardt g1 T | 39 &g O R A
gyriare, AT, UHiaare, wiidard WrTReE $ife Iu=ard frd 7 |

TR T ¥ Saftd Fofafad v & Iw e

Sub questions

Question Number : 1 Question Id : 92090610023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I SRR IUUN & @S D §?

(1) Todtare Meand (2) WP Hg
(3) UHdEg (4) IHEg Yo
Options :

92090639601. 1
92090639602. 2
92090639603. 3
92090639604. 4



Question Number : 2 Question Id : 92090610024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o sigaRl Iua fod U+ 7 usiird gane

(1) 1882 (2) 1883
(3) 1886 (4) 1879
Options :

92090639605. 1
92090639606. 2
92090639607. 3
92090639608. 4

Question Number : 3 Question Id : 92090610025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe=t # 9 Iy =€t forg 1o

(1) sifcanyrdard (2) WHARIHE
(3) U (4) wpfaardt
Options :

92090639609. 1
92090639610. 2
92090639611. 3
92090639612. 4

Question Number : 4 Question Id : 92090610026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feiRiaTa Tiardt S Wuifd=i afior: Iu=ary &1 3941 a4 341 82

(1) 1879 (2) 1890
(3) 1886 (4) 1903
Options :

92090639613. 1
92090639614. 2
92090639615. 3
92090639616. 4



Question Number : 5 Question Id : 92090610027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g W1 T U Weg 1 IUGT EId1 181 87

1) g (2) 3Rdt
(3) E&pd @) f&=<
Options :

92090639617. 1
92090639618. 2
92090639619. 3
92090639620. 4

Question Id : 92090610022 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

gt H¥hd H ‘IUN’ st ST WA 8idT Xel & [ feal H 391 Y UdheH 98d T ¢ |
U (3U+ 1+ o/ &u+89]) &1 oY § — gaiuby, [GaR, dadsd, Udd, YiHe1, Uwdra,
e T anfe | FRde wEar o o & Iu=ur W Uafd &= fear sar € | 53 uifefds
faun &1 & a1 HYI, RS, URSYT, IuHUT e & 1t oiie &1 SR #d € | fvg
U I I SIS gR Bl dlel Al g |

YA’ ez H1 3ol e & of  ydnT #39 ardd Ugd aafad Saewr Hg § | R
Uiy @ R BIgal | Udl @l 8 fb I8 Sle-as Al Ul @1 391 B § | ugd
U &1 M IYUH’ eg ford §U € - WeUHYT ST’ G IUUM &1 9 g T o
U I GFT 3R € | W 3@ ofFl & =<l udlw ([awR 1879) ok =l wdlw 13
1882) T @1 ol Hdhdl ¢ | a4 FTEERY’ (1886) &1 YHiew1 T I foral § - U8 Iu-ud 6
1886 B gl Udiy' Bl fSiegl & P& bl # T 4 T1 5 TG FPad [HHIHR BT H
39 gHY & UeD! &1 IUSR A die faar man o1 1 friiere Meardt 3 worfd=i aikorr (1890)
& JUIgUrd H ‘IUAY’ Wsa P UGN fba1 § | 6 1903 H = IHa= Jaa 4 =YL 1
JUMY WX U i ferar |

Ua=< 9 IU S uRHIRG X gu foral € - I &1 aH49-aRA &1 [ 0 augrdal
g | AF—aRa R U Sl 3R 39 |l &1 Giadl g IR &1 Jd ad ¢'| i<
ugdl ST gurfardl IuEER 4, 91 # gurfardt g T | 39 a8 o i<l A
gURaTE, AAATI®, UPHiard], Widars) WErRe sffe Iu=ard g 7 |

TR TR ¥ Saftd Fgfafad vl & 3w e



Sub questions

Question Number : 1 Question Id : 92090610023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o TR U & dad B 67

(1)  fFeniare e (2) dIEPE Hg
(3) UHER (4) = Y
Options :

92090639601. 1
92090639602. 2
92090639603. 3
92090639604. 4

Question Number : 2 Question Id : 92090610024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- sigraRl Iuay fd 9 7 ubiird gane

(1) 1882 (2) 1883
(3) 1886 (4) 1879
Options :

92090639605. 1
92090639606. 2
92090639607. 3
92090639608. 4

Question Number : 3 Question Id : 92090610025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe= # 9 Iu=ar et forg 1moe

(1) sifcarundard (2) HAETAE
3) gurdard (4) Ppfaardd
Options :

92090639609. 1
92090639610. 2
92090639611. 3



92090639612. 4

Question Number : 4 Question Id : 92090610026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foriRiaTa fiardt Fd Wuiid=i aftor Iu=ard &1 a1 a4 1 82

(1) 1879 (2) 1890
(3) 1886 (4) 1903
Options :

92090639613. 1
92090639614. 2
92090639615. 3
92090639616. 4

Question Number : 5 Question Id : 92090610027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HINT T U=y Ysg &1 IULI BId1 381 872

) Ig (2) 3RE
(3) E&pd @) fR=il
Options :

92090639617. 1
92090639618. 2
92090639619. 3
92090639620. 4

Sub-Section Number : 2
Sub-Section 1d : 920906324
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090610028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUH 1 WGP gl &

(1) g P ARY A (2) s3 &b 3dH
(3) UscHHAH @) =9 | Tt



Options :

92090639621. 1
92090639622. 2
92090639623. 3
92090639624. 4

Question Number : 6 Question Id : 92090610028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JUH &1 UG Bl &

(1) eGP ARY A (2) Wsx &b 3 H
(3) WsEHHAH @) =9 | |l
Options :

92090639621. 1
92090639622. 2
92090639623. 3
92090639624. 4

Question Number : 7 Question Id : 92090610029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYUHR' &1 I - fa=ie F1 g

(1) Ufd+ IUSKR ) Uy + PR
(3) Uy + & (4) U+ UhR
Options :

92090639625. 1
92090639626. 2
92090639627. 3
92090639628. 4

Question Number : 7 Question Id : 92090610029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSR’ BT W - fa=re =1 g
(1) ufd + IuSR (2) U+ UDR
(3) Uy + d (4) W+ JUhR



Options :

92090639625. 1
92090639626. 2
92090639627. 3
92090639628. 4

Question Number : 8 Question Id : 92090610030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAH BT T YTk &1 aredd &:

(1) for9s U el $od g (2) Sl 3BT Ed Bl

(3) Gl Y@l 4) s Uty Sindl dad gl
Options :

92090639629. 1
92090639630. 2
92090639631. 3
92090639632. 4

Question Number : 8 Question Id : 92090610030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HaH &1 e YeraR &1 ared &

(1)  foras U Sel $ad 8 (2) Sl 3BT ED Bl

(3) S YEdHEE 4) e gy Sivdl Fad gl
Options :

92090639629. 1
92090639630. 2
92090639631. 3
92090639632. 4

Question Number : 9 Question Id : 92090610031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRE g5 B dad B0 7 DI Ul DR 87

(1) JUAT (2) 9
(3) SU™ 4) TH®



Options :

92090639633. 1
92090639634. 2
92090639635. 3
92090639636. 4

Question Number : 9 Question Id : 92090610031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRE 9 &1 99d (B0 H $1H I1 6PR 67

(1) JUA (2) T
(3) U™ (4) THD
Options :

92090639633. 1
92090639634. 2
92090639635. 3
92090639636. 4

Question Number : 10 Question Id : 92090610032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadddess AeTe 8

(1)  dIffe g5 2) SEBR &G
(3) HHP Bg (4) WIS &g
Options :

92090639637. 1
92090639638. 2
92090639639. 3
92090639640. 4

Question Number : 10 Question Id : 92090610032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EEEEEEIRCE G
(1) e @5 (2) SBR Ba
(3) HED Ba (4) WE® &g



Options :

92090639637. 1
92090639638. 2
92090639639. 3
92090639640. 4

Question Number : 11 Question Id : 92090610033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 2 5,000 B AR 10% AN Thdle S BT G W H B TS 81, @ 2 a9 gy ud
i g:

(1) < 6,000 (2) 6,050
(3) T 7,200 (4) T 8,000
Options :

92090639641. 1
92090639642. 2
92090639643. 3
92090639644. 4

Question Number : 11 Question Id : 92090610033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg z 5,000 DT AR 10% S Thgla T BI & Y H I 715 &1, df 2 9 UYIq U
TR B:

(1) 2 6,000 (2) 6,050
(3) T 7,200 (4) % 8,000
Options :

92090639641. 1
92090639642. 2
92090639643. 3
92090639644. 4

Question Number : 12 Question Id : 92090610034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfe cot 20° tan (90°-A)=1, T A BTHFAT &

(1 5pe (2) 45°
(3) 70° (4) 60°
Options :

92090639645. 1
92090639646. 2
92090639647. 3
92090639648. 4

Question Number : 12 Question Id : 92090610034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe cot 20° tan (90°-A)=1, T A BT HFHI &:

(1 50° (2) 45°
(3) 70° (4) 60°
Options :

92090639645. 1
92090639646. 2
92090639647. 3
92090639648. 4

Question Number : 13 Question Id : 92090610035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ufe a BT a%+b BT b% = ab BT 2%, Al b, a &1 fba UfaIT § 7

(1) 50% (2) T5%
(3) 100% 4) 120%
Options :

92090639649. 1
92090639650. 2
92090639651. 3
92090639652. 4

Question Number : 13 Question Id : 92090610035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TfE 2 BT a%+b BT b% = ab BT 2%, Al b, a FT fHda ufawd & 2

(1) 50% (2) 75%
(3) 100% (4) 120%
Options :

92090639649. 1
92090639650. 2
92090639651. 3
92090639652. 4

Question Number : 14 Question Id : 92090610036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud S DI TAd 1408 cm? & U1 S| Hdls 7 cm & | 904 &1 $d s &A%hd J1d de
(@ %a"lwﬁﬁﬂa}rmﬁ,n:%}

(1)  352.55cm?® (2) 548.75cm?
(3) 75429 cm? (4) 45839 cm?
Options :

92090639653. 1
92090639654. 2
92090639655. 3
92090639656. 4

Question Number : 14 Question Id : 92090610036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U o BT 3MAd 1408 cm? & Tl ST Hdls 7 cm ¢ | 904 &1 $d U§ &4%d J1d B
GRIERE %aﬁaﬂqﬁﬂa}rgﬂiﬁ,ﬁ%

(1)  352.55cm? (2) 548.75cm?’
(3) 754.29 cm? (4) 458.39cm?
Options :

92090639653. 1
92090639654. 2
92090639655. 3
92090639656. 4



Question Number : 15 Question Id : 92090610037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W S U $B YR 8 S I & 30 39 &1 399 33 & fRIT siya1 A1 &1 60 fe= &1 daH
& & U maia § | 9fe 98 S & Ueh 91y $1H W Wad] ¢, df 98 YARI1R1 38 (dha oA @l
dcH &7 & foe gafe gnft 2

(1) 30 (2) 20
(3) 12 4y 10
Options :

92090639657. 1
92090639658. 2
92090639659. 3
92090639660. 4

Question Number : 15 Question Id : 92090610037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M S U $F YR 8 S I 1 30 39 &1 3d9 33 P fRIT 3ryd1 741 $1 60 & &1 daH
&1 & fau uai § | Ofe 98 <1 &1 U 91y $1H W Tad] g, a1 d8 YR 32 o A &
dcH &9 & fore i gnft 2

(1) 30 (2) 20
(3) 12 (4) 10
Options :

92090639657. 1
92090639658. 2
92090639659. 3
92090639660. 4

Question Number : 16 Question Id : 92090610038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafad uy 7 31 FyA iR dF s 2w e § | Sy Femur R e 3 wig ifore
SR Fafafead & 9 el e &1 g |

Fd:  (A) SO, THERE |
B) i oHae, WY § |
frpd: | PO o0 TARE|
| P WAYR], TFERE |
i F, WA g |
JRIed Sy & 3fTdres H, A 3T T faswl 7§ I el IR &1 984 Sifoe

(1)  &ad | 380 &l 8
(2) Dad | SR Il TR0 HW &
(3)  &ad Il 3R 1l TR0 HIdT &
4) Y SRV HIAT B

Options :

92090639661. 1

92090639662. 2

92090639663. 3

92090639664. 4

Question Number : 16 Question Id : 92090610038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafad uy 7 31 FyA iR dF s 2w e § | Sy Femur R e 3 wig ifore
SR Fafafead & 9 el e &1 g |

Fd:  (A) SO, THERE |
B) i oHae, WY § |
frpd: | PO o0 TARE|
| P WAYR], TFERE |
i F, WA g |
JRIed Sy & 3fTdres H, A 3T T faswl 7§ I el IR &1 984 Sifoe

(1)  &ad | 380 &l 8
(2) Dad | SR Il TR0 HW &
(3)  &ad Il 3R 1l TR0 HIdT &
4) Y SRV HIAT B

Options :

92090639661. 1

92090639662. 2

92090639663. 3

92090639664. 4

Question Number : 17 Question Id : 92090610039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad o @19 a1 IR fF, S siregg uy a1 &1 gol &l €, 34 91d DI |
Uy o=

Options :

92090639665. 1
92090639666. 2
92090639667. 3
92090639668. 4

Question Number : 17 Question Id : 92090610039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad o @19 a1 IR fF, S siregg uy a1 &1 gol &l €, 34 91d DI |
Uy o=

(2)

Options :

92090639665. 1
92090639666. 2
92090639667. 3
92090639668. 4

Question Number : 18 Question Id : 92090610040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UY B IR & P folU & 75 TSR D1 YIS Uleu:

TS URGR o H 6 98/ P, QR S, THRZE QRIS B R QB AT & | P 3R
RGAMGATSEITRHFTURE IS, PHI Gl g 3R Z, P T HTE B

uitaR # fdha o8 Hew g ?

(1) U® ) @
(3) dH (4) IR
Options :

92090639669. 1
92090639670. 2
92090639671. 3
92090639672. 4



Question Number : 18 Question Id : 92090610040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BT IR o7 & o &l 1§ TSR &1 eaHgda ufeu:

TS URGR o H 6 98/ P, QR S, THRZE QRIS B R QB AT & | P 3R
RGAMGATSEITRHFTURE IS, PHI Gl g 3R Z, P T HTE B

uitaR # fdha o8 Hew g ?

(1) TP 2 @
(3 dH 4) =R
Options :

92090639669. 1
92090639670. 2
92090639671. 3
92090639672. 4

Question Number : 19 Question Id : 92090610041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe; gf&ror-ufém &1 uidm | for S, ITR-uigd 1 IR AF fordn 9 ok ganfe | 99 gre
fFHd Taded g

(1) <l&u-ge 2) IWR-TRd
3) TW (4) of&m
Options :

92090639673. 1
92090639674. 2
92090639675. 3
92090639676. 4

Question Number : 19 Question Id : 92090610041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



af giarT-uigs &1 aigm A foan S, IwR-UigH &1 3R A foran e Sk 3ans | 79 e
fFHd g g

(1) <l&u-gRe (2) IW-Rd
(3) YW 4) ofém
Options :

92090639673. 1
92090639674. 2
92090639675. 3
92090639676. 4

Question Number : 20 Question Id : 92090610042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu U o wraaf i fsed e
YT 34 S P ul faemdf ugrs § wmr @ | afdd v Ayrd R
frepd: | PO BHREATTRRE!
I, fad 9gd HeId BT § |
1. afaan 59 Hean $i faendi=dig
IR HYF F 3M1dre H, < fAu T fasedl # 9 vet 3w 994 S
(1) &ad [shy | 3F[HI0 Hdl &
(2) Had [sHY || SFTHI0 Bl &
(3) TGl Il ST Il S{E01 Bl &
(4)  TIAATE Il SR Rl B

Options :

92090639677. 1
92090639678. 2
92090639679. 3
92090639680. 4

Question Number : 20 Question Id : 92090610042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu U o wraaf i fsed e
YT 34 S P ul faemdf ugrs § wmr @ | afdd v Ayrd R
frepd: | PO BHREATTRRE!
I, fad 9gd HeId BT § |
1. afaan 59 Hean $i faendi=dig
IR HYF F 3M1dre H, < fAu T fasedl # 9 vet 3w 994 S
(1) &ad [shy | 3F[HI0 Hdl &
(2) Had [sHY || SFTHI0 Bl &
(3) TGl Il ST Il S{E01 Bl &
(4)  TIAATE Il SR Rl B

Options :

92090639677. 1
92090639678. 2
92090639679. 3
92090639680. 4

Question Number : 21 Question Id : 92090610043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIed gRI ST FHoll & fad Eur=iid a1 S g2

(1) ISl 2) faeE e
(3) IEEES Fel @) Tit® Sl
Options :

92090639681. 1
92090639682. 2
92090639683. 3
92090639684. 4

Question Number : 21 Question Id : 92090610043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIed gRI ST FHoll & fad Eur=iid a1 S g2

(1) ISl 2) frea o
(3) IEEES Fel @) TifEE Fl
Options :

92090639681. 1
92090639682. 2
92090639683. 3
92090639684. 4

Question Number : 22 Question Id : 92090610044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WP HAST RIFTT Hes UUITeH) b1 Tgel HEH HI-41 87

(1) 9 2) W™
(3) HIfdd 4 ==
Options :

92090639685. 1
92090639686. 2
92090639687. 3
92090639688. 4

Question Number : 22 Question Id : 92090610044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WP HAST RIFTT Hes UUITeH) b1 Tgel HEH HI-41 87

(1) 9 2) W™
(3) HIfdd 4 ==
Options :

92090639685. 1
92090639686. 2
92090639687. 3
92090639688. 4

Question Number : 23 Question Id : 92090610045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

frafead $19-8 YR g 919 B W) 6] 0L Sd 87
A. T SIS

B. fewma udw

C. Ydd

D. JWEsS

e fau 7Y faereul # 9 Hel IR $1 954 IS

(1) &ad A3RD
(2) @ad B3RD
(3) dd A C3RD
(4) @ad C3RD

Options :

92090639689. 1
92090639690. 2
92090639691. 3
92090639692. 4

Question Number : 23 Question Id : 92090610045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad -8 YR A9 =94 ST W S Wy $3d 82

A UfEmETE

B. [feHmEd uew

C. UdH

D. JWEsS

i fag e faeeul # @ wel IR &1 904 BT ;
(1) &ad A3IRD

(2) ad BSRD

(3) dd A C3RD
(4) Had C3RD



Options :

92090639689. 1
92090639690. 2
92090639691. 3
92090639692. 4

Question Number : 24 Question Id : 92090610046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyERumue:

HYA1 : TTHEIHE YRAE idie giFgl &1 sialke § & 9 a/d YRd &1 UYH HHEd
3MidRel IBH YR & HEE 3fidike A & &3 § e URA™ Siafve
oIt ¥ HeEfid g 1

FYT I :  THEIF AT AidRe IF & Y-S dTel U Yiig Afgdn s-aRe aEi g |
IR HY[ & 3l |, 19 S0 70 fawadl 1§ 9 9gl I &1 994 $ifon

(1) YIRS TS §
) @Y | AR I TTed §
(3) YA el g, cifchd HUA 1| TTaid @
(4) BYF 7T B, Al S 11 TS B

Options :

92090639693. 1
92090639694. 2
92090639695. 3
92090639696. 4

Question Number : 24 Question Id : 92090610046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R sERume

FYA1 : TTHEAHE YRAE Aidie giEgl &1 siale § | 9 g/ YRd &1 UYH HJHEd
3fiafiel ISM ufEier T © miEEr ofidike A & &3 § U9 4RaE Siafve
Il A WA g |

FYF I : AT THAAE AaNe IF & Y-S diel U URig Al sFaRe aEi g |
IR HYA & 3fdld |, 1 16U 770 fawedl 1 | el I &1 994 Hifeg

(1) &Y 3R 11 EF 9gl 8
) YR SH e §
(3) ®YFI Ul B, Al HYT 1 TTAd &
(4) BYF I TTEd B, Al HYE 11 e B

Options :

92090639693. 1
92090639694. 2
92090639695. 3
92090639696. 4

Question Number : 25 Question Id : 92090610047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (Tl FHT 3eaf) SO Arad FAgfafad O 4§ f&a divare 2
(1) ot wie (dlie wuT Iurede)) (2) wE HA
(3)  yufd (4) rsgar|

Options :

92090639697. 1
92090639698. 2
92090639699. 3
92090639700. 4

Question Number : 25 Question Id : 92090610047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T (cidr JHT 38 391 Arad Fgfiiad & 9 fed 9iudi g 2

(1) ot wie (dlie wuT Iurede)) (2 "YH HAl
(3)  yufd (4) IsgUrd

Options :

92090639697. 1
92090639698. 2
92090639699. 3
92090639700. 4

Part B: Sociology

Section Id : 920906200
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906325
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090610048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following 1s associated with ‘Urban Ecology’ of Chicago School of
Thought?

(1) Hobert Ezra Park (2) Elijjah Anderson
(3 Talcott Parsons (4) Saskia Sassen
Options :

92090639701. 1
92090639702. 2
92090639703. 3
92090639704. 4



Question Number : 26 Question Id : 92090610048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e faaRyR & g uiifRufaet § g § 9 &9 gdfig 22

(1) U TRl UTh (2) uferen teva
(3) eddic URTH @) Igfdar A
Options :

92090639701. 1
92090639702. 2
92090639703. 3
92090639704. 4

Question Number : 27 Question Id : 92090610049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following coined the term ‘Megapolis’ in 1961 to designate a vast
urban region containing a number of cities and their surrounding suberbs?

(1) Jean Gottmann (2y Abraham Levitt
(3) Louis Wirth (4) Herbert Gans
Options :

92090639705. 1
92090639706. 2
92090639707. 3
92090639708. 4

Question Number : 27 Question Id : 92090610049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g A ¥ 9 1961 ©, U g8 THIT & o &3 2rew aut foR gu Sy &3 &1 g
& fore areg Amafer gt 2

(1) S Tend (2) 3fsTeH afde
3) T@EUad (4) BT
Options :

92090639705. 1
92090639706. 2



92090639707. 3
92090639708. 4

Question Number : 28 Question Id : 92090610050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Two general differences between the religious belief systems of pre-industrial and
western industrial societies:

(A) The distinctions of sacred and secular is not clear in pre-industrial societies.

(B) The role of the collective belief system is more in pre-industrial societies,
whereas personal faith and its importance is more in industrial societies.

(C) HReligion is predominant in political and social life of the pre-industrial societies
compared to industrial societies.

(D) In industrial societies, there is predominance of organizational forms of religion

Choose the correct answer from the options given below :

(1) (B), (), (D) only (2) (A), (C). (D) only
3)  (A), (B), (D) only (4) (A), (B), (C) only

Options :

92090639709. 1
92090639710. 2
92090639711. 3
92090639712. 4

Question Number : 28 Question Id : 92090610050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ud Sfreifires qun afindt shehfiies v & enfife o sgawn & 3 9 SR & -

(1) ud el ware ®, ufas aur dufaears o ik @y et 21

@  ud ienfie ga § wnifte wd sraw &) yftiet sfte € wefe sielfie gure o
aafaaTd fayra qur 9@t He sifte g

3) e wae &t go § ud sheifie aore & worifae @ wrnfore ofta & e
F Yl gl

@) 3NN Tae # 4 & SRINTd PR & daddl g

1 feu o fased! #f 4 @ Iuge IR &1 994 $iford

1. %ad B,C, D
2. &9d A, C,D
3. &4d A, B, D
4. &ad A B, C

Options :

92090639709. 1

92090639710. 2

92090639711. 3
92090639712. 4

Question Number : 29 Question Id : 92090610051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following authored ‘Magic, Science and Religion™?

(1) Margaret Mead {2y A.R. Radcliffe - Brown
(3) Bronislaw Malinowski (4) E.E. Evans Pritchard
Options :

92090639713. 1
92090639714. 2
92090639715. 3
92090639716. 4

Question Number : 29 Question Id : 92090610051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B @ feun Bfvie, arsa dur Yoo &1 g far -

(1) we fimrs (2) U 3R YfFas sraH
(3) s Afemaw! @) 33 zargfiesrs
Options :

92090639713. 1
92090639714. 2
92090639715. 3
92090639716. 4

Question Number : 30 Question Id : 92090610052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Sociological Imagination enables us to see history and biography and the relation
between the two. That is its task and its promise.

Who among the following could be associated with the above statement about the
discipline of Sociology?

(1) Ken Plummer (2) C. Wright Mills
(3) Peter Berger (4) Thomas Luckmann
Options :

92090639717. 1
92090639718. 2
92090639719. 3
92090639720. 4

Question Number : 30 Question Id : 92090610052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grferes uftesea sfaer aut sita-it Ut 34 31 & 7 Tia™ &) om- J g1 9ud &dl 8
il fob U1 S qur IaEl g1 GHGIRG &1 URA F TR § SWRied Sy, g # 4 e
et faan o gabdn g2

(1) &1 @R 2) W uge o™
3) Ul EoR (4) UTHY dHET
Options :

92090639717. 1
92090639718. 2
92090639719. 3



92090639720. 4

Question Number : 31 Question Id : 92090610053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Objective Knowledge’ could be approached through falsification, not verification and
through deduction, not induction.

Who among the following thinkers could be associated with the above statement?

(1) Karl Popper {(2) Thomas Kuhn
(3 Karl Mannheim {4) Bruno Latour
Options :

92090639721. 1
92090639722. 2
92090639723. 3
92090639724. 4

Question Number : 31 Question Id : 92090610053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR I "3Msalfaed Afds de firareo A1 i garg= qur e & g = 1 0 s
& GRI Ugl off Yebel |

g 7 @ fu feaRs &1 Iudiad Sy A TiEgw ¢ -

(1) @ Uge (2) UTHE P
(3) e A (4) @R
Options :

92090639721. 1
92090639722. 2
92090639723. 3
92090639724. 4

Question Number : 32 Question Id : 92090610054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The idea that knowledge is rooted in a particular time and culture, is known as:
(1) Cultural Relativism (2) Epistemic Relativism

(3)  Sociology of Knowledge {4) Paradigm of Knowledge



Options :

92090639725. 1
92090639726. 2
92090639727. 3
92090639728. 4

Question Number : 32 Question Id : 92090610054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ug R & 7 3 o2 ves ARy wwg qun Sepfa & Fifea € Feermar &

(1) iplae qreErg (2) FEHERE geEre
(3) T P UL (4) T &1 fFERieA

Options :

92090639725. 1
92090639726. 2
92090639727. 3
92090639728. 4

Question Number : 33 Question Id : 92090610055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement/s is/are wrong?

(A) People’s movement into a territory, commonly termed as immigration, is
measured as an In-Migration Rate, calculated as the number of people entering
an area for every thousand people in the population.

(B) Movement out of a territory or emigration is measured in terms of the Out-
Migration Rate, the number leaving for every thousand people.

(C) In-migration usually occurs after Out-migration and their difference is called
the Net Migration Rate.

(D) All nations also experience internal migration; that is movement within
horders from one region to another.

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only
(3 (A), (C), (D) only (4) (A), (B), (D) only
Options :

92090639729. 1



92090639730. 2
92090639731. 3
92090639732. 4

Question Number : 33 Question Id : 92090610055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g a4 $9 8 Hy= Tad €2

A ofaaal &1 fasedt & dtar & sre goad IMId: YA SEdldl ¢, 98 Uard H $id:
Uarg X & A7 o1 € fedl ynfe A ufd o aafeal memi U A H udw &
Y § U B St g

B. fdit &= T 9§ 918 &1 3R g, U1 A, 18y WaM &3, Ufd g9 safeadl ue
IS 91 & ¥U # {191 F1d1 g

C. ol UG ARG d18d UM & UMl a1 € aYT STd He &1 3R A WA X
Fedrdl gl

D. Wt Iy 3 ward Sif Bt A & HidR Up & A g & | O B ger P
U IR g

12 feu e faged! o 4 Ia@ Iuge IR &1 994 $iford
1. $adA,B,C
2. $4dB,CD
3. $adA,CD
4. $IUA,B,D

Options :

92090639729. 1
92090639730. 2
92090639731. 3
92090639732. 4

Question Number : 34 Question Id : 92090610056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



*... BSexual intimacy between primary kin exists, and being in the nature of incest,
such attraction must be repressed.”

The statement refers to which of the following mechanisms?

(1) Monogamy (2) Exogamy
(3)  Promiscuity (4) Oedipus Complex
Options :

92090639733. 1
92090639734. 2
92090639735. 3
92090639736. 4

Question Number : 34 Question Id : 92090610056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it wferar wufire AragRT # €1t € 9w Sicfias ofier @ uefa @ 81 & &R, 39
UHR & HHYUI H1 Sardl ST 1|

g $YA g 7 A f5y usR & g & gufar g

(1) U ﬁaﬁ (2) dIga ﬁ?ﬂﬁ
(3)  ¥@=hq YHI (Promscuity) (4) HGRM
Options :

92090639733. 1
92090639734. 2
92090639735. 3
92090639736. 4

Question Number : 35 Question Id : 92090610057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following theories apply the principles derived from biological science to
explain the Spatial distribution of urban population?

(1) Ecological Complex {2) Biological Determinism
{3) Urbanism (4) Urban Ecology
Options :

92090639737. 1
92090639738. 2
92090639739. 3
92090639740. 4



Question Number : 35 Question Id : 92090610057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fra 7 9 o9 3 g 99 fagm & sl & av] $-a gU TR seen & wife
fareRur &t sarem Fvd 87

) uifufast 9ea (2) wifds Fygars
(3) W dlg 4) e ufdaufast
Options :

92090639737. 1
92090639738. 2
92090639739. 3
92090639740. 4

Question Number : 36 Question Id : 92090610058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which of the following techniques of social research., sampling begins from core
known elements and is then increased by adding new elements given by members of

the original sample?

(1) Stratified (2} ESnowball
(3 Core and Periphery {(4) Random
Options :

92090639741. 1
92090639742. 2
92090639743. 3
92090639744. 4

Question Number : 36 Question Id : 92090610058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & F il sy 6t S @ aaite §, TS0 F A URH €T 8, a dedrdl
& 1 & T & wew! g fay U U awl B e A dedl ST @ -

(1) &lipd (2) Wre
(3) &= ayurgRfy @) urefse



Options :

92090639741. 1
92090639742. 2
92090639743. 3
92090639744. 4

Question Number : 37 Question Id : 92090610059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following processes talks about the principles of Disney Theme Parks
that are coming to dominate more and more sectors of American Society as well as the

rest of the world?

(1) Me Donaldization (2) Disneyisation
(3) Modernisation {(4) Globalisation
Options :

92090639745. 1
92090639746. 2
92090639747. 3
92090639748. 4

Question Number : 37 Question Id : 92090610059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g A & o ufem, fEet Ga urs], o & srifte wae & st | sifte &= o qun
fyFsmurmidyeagiwie, FRig s IR ad s e

(1) P SAEIH 2) fEeta
3)  enyfEte @) afiHIor
Options :

92090639745. 1
92090639746. 2
92090639747. 3
92090639748. 4

Question Number : 38 Question Id : 92090610060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be associated with the understanding of health, well-being,

diseases etc. 1n sociology?
(A) Social class

(B) Ethnicity

() Politics

(DM Individual faith

Choose the correct answer from the options given below :

(1) (A), (B), (D) only (2) (B), (C), (D) only
(3)  (A), (0), (D) only (4) (A), (B), (O) only
Options :

92090639749. 1
92090639750. 2
92090639751. 3
92090639752. 4

Question Number : 38 Question Id : 92090610060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafga § 4 9o I & W, T g, I sanfe @t aug iy - fa &) deéfa
fepar o Terar &2

A) Gt aif

(B)  Jeifaiddl (Ethnicity)

(€ IeHIfd

(D)  EafdaTd fayrd

1 feu e fawedt A Ot 3w g

(1)  ad (A), (B) R (D)
(2) ad (8), (O 3R (D)
3) &ad (A), © R (D)
(4)  Fad (A), (8) 3R ()

Options :

92090639749. 1
92090639750. 2
92090639751. 3



92090639752. 4

Question Number : 39 Question Id : 92090610061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following protocol was signed in 1997 that aims to reduce green house

gas emissions by 5.2 percent of the 1990 level in each country by 2008-127

(1) Kyvoto Protocol (ZY Amsterdam Protocol
(3 L’Aecquila Protocol {4) Brundtland Protocol
Options :

92090639753. 1
92090639754. 2
92090639755. 3
92090639756. 4

Question Number : 39 Question Id : 92090610061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fad 3 a3 dideia W 1997 # g&er 53 MU e SEw ude < A 19 &
Iol Y 1990 F W ¥ 5.2 Ufawd 39 S0 82

(1) e Uicsia (2) URCISH Ucisid
(3) @ 3bIen MersTa (4) FETAUS
Options :

92090639753. 1
92090639754. 2
92090639755. 3
92090639756. 4

Question Number : 40 Question Id : 92090610062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  An English Clergyman and Economist, Thomas R. Malthus, noted
that the number of people in the world had begun to increase
arithmetically (as in series 2, 3, 4, 5, 6) and feared that the world
might head towards a period of Catestrophic Starvation.

Statement I1: Malthus noted that the people could slow the tide of population
increase through ‘Preventive Checks’ such as family planning, sexual
abstinence and delayed marriages. He also talked about ‘Positive
Checks’ such as famine diseases, and war etc.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement I are true
{(2) Both Statement I and Statement II are false
(3 Statement I is true but statement 11 1s false
(1) Statement 1 is false but statement I1 is true

Options :

92090639757. 1

92090639758. 2

92090639759. 3
92090639760. 4

Question Number : 40 Question Id : 92090610062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 Ho 3T MU € UF fUFYA (Assertion A) F F9 I fifEd € 9 gU¥ 39S HRU
(Reason R) & ¥4 H;

AHYPYT A ©  Th S Faoia aul HLred uing sRATR™ A g8 g &t 3y & &
&I e TR U ¥ 9 8 & (O 6 3vft 2,3,4,5,6) aur waafia gon i
% U farTeert yEad o1d $1 Sk R 8w e

FRUIR: Oy 3 98 Ui 3t dn 998 9fg & SR & "9 Fdae o $
uRRar fFaeE, offte sofifa aur 38 ¥ g3 faarel 3 o & 9@ €
T GHRIAS Fdas o fF srera, I, 9y gg s & ar o off
1 |

SWRIR S & 3fTatd H, 1 fau e fased! § O 99l Iuga IR &1 994 i

(1) AR RSH U & 3R R, A B Tl a8
(2) A SRRIH T € AfFTR, A B! TE BN TS B
(3) AU E a6 R UG T B
(@)  AWE el g, Al R wE B
Options :
92090639757. 1
92090639758. 2

92090639759. 3
92090639760. 4

Question Number : 41 Question Id : 92090610063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a controversial book published in 1972 that used Computer
models to calculate the planet's available resources, rate of population growth,
amount of land available for cultivation, levels of industrial and food production and
amount of pollutants released into the air, and had a large hand in launching the
environmental movement?

(1) The Logic of Growth (2) The Limits to Growth
(3 The Vanishing Face of GGaia (4) An Inconvenient Truth
Options :

92090639761. 1
92090639762. 2
92090639763. 3
92090639764. 4



Question Number : 41 Question Id : 92090610063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 7 9§ o1 W Rarerue gias 1972 7 i, oM ug W Iuasy yft 9t e, shafire
dqYT ETE JATGA & &R dYT §d1 & dgd UguS! S HEAT S M0 § FHIe Algd 1 ugnl
faram o1 T ggiaveiiy el &1 T=arrd 39 | foret 931 81y o

(1) g @l 3K 3y (2 zfefegay
(3) < aff i offe Mg e (4) U gIRAMTe Ty
Options :

92090639761. 1
92090639762. 2
92090639763. 3
92090639764. 4

Question Number : 42 Question Id : 92090610064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Anthony Giddens, which of the following constitute a key aspect of
globalisation?

(A) Time-Space Compression
(B) Dismembering
(C) Reflexivity

(D) Parochialisation

Choose the most appropriate answer from the options given below :

(1)  (A), (B), (C) only (2) (A). (B), (D) only
(3)  (A), (O), (D) only (4) (B, (C), (D) only
Options :

92090639765. 1
92090639766. 2
92090639767. 3
92090639768. 4

Question Number : 42 Question Id : 92090610064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tyl P & AR g § § S 3416301 1 U g ugf fAnfor H3d 8-
A GG - R - gad

B. Ho&dl @Ml

C. ggoldl Rpafdpafadh
D. ofvy fAwas

i feU U fadhedl § T Tl IR o1 99 Bl ;

(1) @ad A, B, C
(2) @dd A B,D
(3) @ad A CD
(4) ®dd B,C,D

Options :

92090639765. 1
92090639766. 2
92090639767. 3
92090639768. 4

Question Number : 43 Question Id : 92090610065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is the process of attempting to change one’s rank by giving
up attributes that define a caste as low and adopting attributes that are indicative of
higher status?

(1) Social Mobility (2) Occupational Mobility
(3) Sanskritization (4) Modernisation
Options :

92090639769. 1
92090639770. 2
92090639771. 3
92090639772. 4

Question Number : 43 Question Id : 92090610065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 7 & o o ufra § o v afd oifa & P ot s o qoif &
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(1) TSl MaLiedn (2) caraande o
(3)  HEHdimRl (4) SMEYABIHI
Options :

92090639769. 1
92090639770. 2
92090639771. 3
92090639772. 4

Question Number : 44 Question Id : 92090610066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following could be associated with the phrase” Cyborgification of

Society™?

(1) Louise Brown (2) Donna Haraway

(3) Manuel Castells (4) Ulrich Beck
Options :

92090639773. 1
92090639774. 2
92090639775. 3
92090639776. 4

Question Number : 44 Question Id : 92090610066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEanihHA 3 TR & Ty i Wi far o gear e

(1) qEaaEH (2) SHIERd
(3) Agdd HERd @) SfRTIH
Options :

92090639773. 1
92090639774. 2
92090639775. 3
92090639776. 4



Question Number : 45 Question Id : 92090610067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Contemporary functionalists focus on a number of key functions of schools. The most
apparent functions of the schools are:

(A) Intellectual
(B) Political
(C) Socal

(D) Eeonomic

Choose the most appropriate answer from the options given below :

(1) (A), (C), (D) only (2) (A), (B), (C) only
(3) (B), (C), (D) only (4) (A), (B), (D) only
Options :

92090639777. 1
92090639778. 2
92090639779. 3
92090639780. 4

Question Number : 45 Question Id : 92090610067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@I Hrard] ¥pd & &8 8T Sl IR S disd Hd & Wdl & Uds $1Y g-

M afge (2) oifae
3) amfas 4) 3nfds

413 feu o Aot 9 9a@ Iuged TR &1 994 Difed ;
1. $adACD
2. HAAAB,C
3. ®ddB,CD
4, HddA, B, D

Options :
92090639777. 1



92090639778. 2
92090639779. 3
92090639780. 4

Question Number : 46 Question Id : 92090610068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is the author of the book “Learning to Labour™

(1) David Hargreaves (2} Paul Willis
(3) Ivan Illich (4) Peter Woods
Options :

92090639781. 1
92090639782. 2
92090639783. 3
92090639784. 4

Question Number : 46 Question Id : 92090610068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g @ affn ¢ dR e & due B 87

(1) afds erde 2) uia fafer
(3) 39 ufeid (4) WX dsw
Options :

92090639781. 1
92090639782. 2
92090639783. 3
92090639784. 4

Question Number : 47 Question Id : 92090610069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following first used the term ‘Meritocracy’ in his satirical book “Rise
of Meritocracy” in 1958?

(1) Paul Willis (2) Peter Woods
{3} Michael Young {4) Dawid Hargreaves

Options :



92090639785. 1
92090639786. 2
92090639787. 3
92090639788. 4

Question Number : 47 Question Id : 92090610069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P & 9 fra 1958 ® oot svnEes GRad Tse e Afedt § ugdl aR wsg
Tl mgT ?

(1)  Old fafr (2) dieIdsH
(3) HEHd T 4) sfds srRua™
Options :

92090639785. 1
92090639786. 2
92090639787. 3
92090639788. 4

Question Number : 48 Question Id : 92090610070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sigmund Freud talks about one’s desire to kill one’s father, cohabit with one's mother,
followed by repentance. The concept is known as:

(1) Incest (2) Oedipus Complex
(3)  Fratricide (4) Super Ego
Options :

92090639789. 1
92090639790. 2
92090639791. 3
92090639792. 4

Question Number : 48 Question Id : 92090610070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frmis wige fadt @ fOar & ara & 391, et @t o & 9y ggaw, e e o
UYTATY &1 & 9 T 91d $3d & I8 faug 91 Sl 8-
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Options :

92090639789. 1
92090639790. 2
92090639791. 3
92090639792. 4

Question Number : 49 Question Id : 92090610071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of earliest form of religion, the German theory of Naturism is often
associated with:

(1) Max Weber (2) Toynbee
{(3) Max Muller (4) Feurbach
Options :

92090639793. 1
92090639794. 2
92090639795. 3
92090639796. 4

Question Number : 49 Question Id : 92090610071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yH & TS UHR & Ao A, T Ugpiaare & Riguia &1 ur: 379 e fasan s 8-

(1) HFHIR (2) T
3) HFEIWR (4) WISREH
Options :

92090639793. 1
92090639794. 2
92090639795. 3
92090639796. 4



Question Number : 50 Question Id : 92090610072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As a research tool this is a significant tradition in Sociology. It says that looking at
lives and how they experience the world helps us to grasp the connection between our
innermost feelings and the wider outer world of social change. It helps us to connect
the emotional and the rational, the scientific and the artistic, the objective and the
subjective. Biographical research method in Sociology bridges the ‘bridgeable divide’
between

(1) Interpretative and Humanist Research
(2} Positivistic and Scientific Research
(3 Humanistic and Positivistic Research

(4) Historical and Longitudinal Research

Options :

92090639797. 1
92090639798. 2
92090639799. 3
92090639800. 4

Question Number : 50 Question Id : 92090610072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF HYM YR & ¥4 F O UGG $ U Hewqul WO ¢ | 98 Fedl ¢ &
forefial &1 3@ W 3R a8 o 3y &1 3ua Fa ¢ | e siaR® s aul
o uikad= &1 98g aedl fay # waw & gHeE | 98 € 98 86 Yads, difdd,
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Srqaier fafer Sqavg favrssr ®! SISl 8-

(1) SRS qul HHgard! e (2) UPRAS qul dyifie
(3) WFdArd ayl GbRED AU (4) Ui qur srcdasia sy

Options :

92090639797. 1
92090639798. 2
92090639799. 3
92090639800. 4

Question Number : 51 Question Id : 92090610073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following conducted anthropological field work in Andaman and
Nicobar Islands in India?

(1) Margaret Mead (2) Bronislaw Malinowslka
(3 AR. Radcliffe Brown (4) E.E. Evans Pritchard
Options :

92090639801. 1
92090639802. 2
92090639803. 3
92090639804. 4

Question Number : 51 Question Id : 92090610073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A @ fa yRa & rsfeuH aut Reter f2u & amdla &3 o1d &1 e fear

(1)  Hrfe fadrs 2) sifaa afaaes!
3) UIRISEFaE sid (4) %3 UaR fUesld
Options :

92090639801. 1
92090639802. 2
92090639803. 3
92090639804. 4

Question Number : 52 Question Id : 92090610074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following may not be called “ideological state apparatus™

(1) Police (2) Religion
{(3) Political svstem (4) Education system
Options :

92090639805. 1
92090639806. 2
92090639807. 3
92090639808. 4

Question Number : 52 Question Id : 92090610074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 7 3 5 -3aie U5 U (S fEaaied ®e tied) el $el o Jébdl -

(1) gferw @2 o
(3)  Ieid® ogaedl 4) fren sawn
Options :

92090639805. 1
92090639806. 2
92090639807. 3
92090639808. 4

Question Number : 53 Question Id : 92090610075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following believed that we are all necessarily part of the system of
ideology in which we live; that is, we are inter-related by ideology?

(1) Anthony Giddens (2) Louis Althusser
(3) Michael Mann (4) Edmund Husserl
Options :

92090639809. 1
92090639810. 2
92090639811. 3
92090639812. 4

Question Number : 53 Question Id : 92090610075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o & @ foraer 7d o1 % g0 o fAaRuRT & siaifd W©d § 3991 U J9w@s 3 g fh
1 94 SRR & aad g

(1) Oy e (2) T3 HTRGHA
(3) HEHAHH (4) USHS ggHdl
Options :

92090639809. 1
92090639810. 2
92090639811. 3
92090639812. 4



Question Number : 54 Question Id : 92090610076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are Auguste Comte’s three stages of development of society?
(A) Metaphysical stage

(B) Theological stage

(C) Modern stage

(I Industrial stage

(E) Positive stage

Choose the correct answer from the options given helow :

(1)  (A). (B), (C) only (2) (A), (B), (E) only
(3 (A), (C), (D) only (4) (C), (D), (E) only
Options :

92090639813. 1
92090639814. 2
92090639815. 3
92090639816. 4

Question Number : 54 Question Id : 92090610076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 H 9 F U M SIHC B THIS [P & diF TR0 52
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2. $AdAB E

3. HAAA.C,D

4, $dd C,DE
Options :

92090639813. 1
92090639814. 2



92090639815. 3
92090639816. 4

Question Number : 55 Question Id : 92090610077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are many theories of media. Functionalist theories focus on the ways in which
media perform certain functions. Interactionist perspective focus on meanings and
interpretations of audiences.

Which of the following theories/perspectives tend to look at the control functions of
the media and concentration of media ownership?

(1) Hypodermic theories
(2) Marxist and Conflict Perspective
{(3) Post-Modernist Perspective
(1) Capitalist Perspective
Options :
92090639817. 1
92090639818. 2

92090639819. 3
92090639820. 4

Question Number : 55 Question Id : 92090610077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifza & &3 Rigrd € verdae Rgd s mm ar s Mo s Afc sl s s &
T IR Y & TR fora ufvewa ® &1 e e o ot ot & o @A OR g 2

o 1 3 et g difew & wifta 91 igar au e sl 3 Tan 31
eftal e

1y Rrgr (2) Hraard! oy day ufewg
3)  nyfFiware uyrd e (4) doftardl aftewg
Options :

92090639817. 1
92090639818. 2
92090639819. 3
92090639820. 4

Question Number : 56 Question Id : 92090610078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following described Sociclogy as a “Science which attempts the
interpretive understanding of social actions in order to arrive at a causal planation of
its causes and effects™?

(1) Alfred Schutz (2) Max Weber
(3) Anthony Giddens {4) Harold Garfinkel
Options :

92090639821. 1
92090639822. 2
92090639823. 3
92090639824. 4

Question Number : 56 Question Id : 92090610078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ¥ 9 fea gaore ue fager & iy J saren 1 8 o [ amfore el & s
T B APT HIAT ¢ Fordas IHd SR Yl YHId &1 HR g1 &1 o Jd6 |

(1) 3Ihe Wpe (2) HegdaR
3) Uy e 4) Ble Rftherd
Options :

92090639821. 1
92090639822. 2
92090639823. 3
92090639824. 4

Question Number : 57 Question Id : 92090610079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Narrative review 1s a more traditional approach that has advantages of flexibility.
This can make it more appropriate for which kind of research?

(1) Analytical Research (2) Positivistic Research
(3) Inductive Research {(4) Deductive Research
Options :

92090639825. 1
92090639826. 2
92090639827. 3
92090639828. 4



Question Number : 57 Question Id : 92090610079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdid faavor us yaR $1 offie grRulie Surm § R adfiaa &1 @ 8) 98 59 uar
& Sy & forg offtre 3fa @

() fagewoners sEyE (2) TBRIHS A
(3)  SHHATHS SHYUH (4) e SR
Options :

92090639825. 1
92090639826. 2
92090639827. 3
92090639828. 4

Question Number : 58 Question Id : 92090610080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of social research which one of the following is NOT considered as

Errors?

(1) Sampling Error (2) Data Collection Error

{3 Analytical Error (4) Data Processing Error
Options :

92090639829. 1
92090639830. 2
92090639831. 3
92090639832. 4

Question Number : 58 Question Id : 92090610080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e sy ¥ def A P A | 5 v ofe ot T o @2

(1) TR (2) Sfiwer Gueu Ife
3) fawwciyor gfe (4) SHidmgl yHu Ffe
Options :

92090639829. 1



92090639830. 2
92090639831. 3
92090639832. 4

Question Number : 59 Question Id : 92090610081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following can be associated with middle-range theory?

(1) Talcott Parsons (2} Alan Baidies
()] Pierre Bourdieu (4) Robert K. Merton
Options :

92090639833. 1
92090639834. 2
92090639835. 3
92090639836. 4

Question Number : 59 Question Id : 92090610081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) cadre U (2) TRy
3) fom arfsaw (4) EC & WAed
Options :

92090639833. 1
92090639834. 2
92090639835. 3
92090639836. 4

Question Number : 60 Question Id : 92090610082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



This term is used in a number of ways, but two stands out :

First, 1t 1s used to denote a general approach to the study of reality that suggest that
only knowledge gained through experience and the senses is acceptable. The second
meaning of the term refers to a helief that the accumulation of ‘Facts’ is a legitimate
goal in its own right. What is this term?

(1) Social Fact (2) Empiricism
{(3) Deduction {(4) Induction
Options :

92090639837. 1
92090639838. 2
92090639839. 3
92090639840. 4

Question Number : 60 Question Id : 92090610082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U8 Wsg $3 UHR I U & @11 Sl § W G USRS g, Ugell, I8 qufy & sier &
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3l @ U 79 W ® | Usg &1 g A &1 0 € F caudl &1 dugu of w9l &
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(1) gmfors uefas (2) SIHEATS
3) A (4) U]
Options :

92090639837. 1
92090639838. 2
92090639839. 3
92090639840. 4

Question Number : 61 Question Id : 92090610083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept which indicates about the character and likely behaviour of members of

particular social groups, that usually carries a pejorative meaning ?

(1) Culture Relativism (2) Ethnocentrism
(3) Stereotype {4) Prejudice
Options :

92090639841. 1



92090639842. 2
92090639843. 3
92090639844. 4

Question Number : 61 Question Id : 92090610083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag uron, ot fos fafRny amfSie aug & gesdl & sufd o9aegR dur afa & ar # $fa
Hdl &

(1)  Hitpide - ArdaErg (2) derfaarg
3) Tl (4) Y78
Options :

92090639841. 1
92090639842. 2
92090639843. 3
92090639844. 4

Question Number : 62 Question Id : 92090610084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following processes of social change talks about the process whereby
religious thinking, practice and institutions loose significance in public and political
lifa?

(1) Modernisation (2) Secularisation
(3) (Globalisation {4) Industrialisation
Options :

92090639845. 1
92090639846. 2
92090639847. 3
92090639848. 4

Question Number : 62 Question Id : 92090610084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g & ¥ 9 W amfoe uitads &t 39 ufsear & TR & Fdrar ¢ Wel uiffs 9=, uur ud
URAIETE, ST aT et oitad F 3041 Hed @1 3d &,

(1) S ) YufRuefisor
3)  affezo 4) JenieRo
Options :

92090639845. 1
92090639846. 2
92090639847. 3
92090639848. 4

Question Number : 63 Question Id : 92090610085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following sees modern societies as concerned with the consumption of

signs?

(1) Jean Baudrillard (2) Anthony Giddens
(3) Jurgen Habermas (4) Fredric Jameson
Options :

92090639849. 1
92090639850. 2
92090639851. 3
92090639852. 4

Question Number : 63 Question Id : 92090610085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafifEd # 9 eF sryfis T &1 gl F IudT 3 SR F 9§ aEdl 82

m oA eigas 2) tuH e
(3) O - gy @) HeRe oaq
Options :

92090639849. 1
92090639850. 2
92090639851. 3
92090639852. 4



Question Number : 64 Question Id : 92090610086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The famous ‘Black Report’ published in 1980 in UK is related to

(1) Race and Ethnicity (2) Health Inequality
(3 Culture of Poverty (4) Urban Ecology
Options :

92090639853. 1
92090639854. 2
92090639855. 3
92090639856. 4

Question Number : 64 Question Id : 92090610086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uRtrg saie Raid ot 4.3, # 1980 H USRI g3 P1 Wa+ @ -

(1) Welfd oyl Jerfadd (2) TETR ST
3) T @t el @) Tt uifyfRufast
Options :

92090639853. 1
92090639854. 2
92090639855. 3
92090639856. 4

Question Number : 65 Question Id : 92090610087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most sociological research takes a snapshot of the people at one particular moment in
time. But we also need to grasp the ways in which liver develop their own life stages
within wider historical and social change. The study of the significant changes within
individual lives and in the society over a period of time is called

(1) Longitudinal Research (2) Latitudinal Research
{(3) Historical Research {4) Biographical Research
Options :

92090639857. 1
92090639858. 2
92090639859. 3



92090639860. 4

Question Number : 65 Question Id : 92090610087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dge1 THORIRATT Sif¥eRg anll Siaes w9a & fafdw ua @ o st @ | wreg g off
P! B Ube ST savaddl ¢ o el s sftas =Roll &Y g8 ofasie aur
amifoie gdadd & sy fAafid sedl @ 99 @ Y8d gU afbd & gmaeR # Sy
Heayul ggardl &1 3erd- Hedrdl ¢ ?

(1) oEidd oy (2) Hefeig My
3) ufdefys my (4) Sitg- Yy
Options :

92090639857. 1
92090639858. 2
92090639859. 3
92090639860. 4

Question Number : 66 Question Id : 92090610088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Taboo 1s not an English word, it has been derived from the Polynesia “Tabu’ meaning:

(1) Forbidden (2) Accepted
(3 Decoded (4) Integrated
Options :

92090639861. 1
92090639862. 2
92090639863. 3
92090639864. 4

Question Number : 66 Question Id : 92090610088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g’ (Taboo) Si¥sh Yeg e & Ig UraHTRrT & dT4 (tabu) & fFraTen man § foraat o §--

O L L (2) Hipd
3) fadma (4) S

Options :



92090639861. 1
92090639862. 2
92090639863. 3
92090639864. 4

Question Number : 67 Question Id : 92090610089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Italian political theorist and proponent of the theory of elite domination. His most
famous book “The Ruling Class”.

(1) Vilfredo Pareto (2} Pitirim Sorokin
{3} Gaetano Mosca (4) Roberto Michels
Options :

92090639865. 1
92090639866. 2
92090639867. 3
92090639868. 4

Question Number : 67 Question Id : 92090610089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdreal Jeriae Addle! aul Jaiepy wuifdar & g @ ufig gas g =i
Farg 7

(m  faamst ara (2) Hifen aRifeA
(3) T "B (4) el |
Options :

92090639865. 1
92090639866. 2
92090639867. 3
92090639868. 4

Question Number : 68 Question Id : 92090610090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



This type of death rate, usually standardized by age, and sex, to facilitate
comparisons between areas and social groups. It provides a measure of health risks.
improvements in the guality of health care, and the comparative overall health of
different groups in the population.

(1) Morbidity (2) Mortality
{(3) Death Rate {(4) Death Ratio
Options :

92090639869. 1
92090639870. 2
92090639871. 3
92090639872. 4

Question Number : 68 Question Id : 92090610090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 UBR g &R B GHERIa: 1Y SR R § aadtea fvan w8, fored i aun wrnfore
gl & &fd a1 faurs-ed g1 o) U8 Wy ol &1 U HIUS, Wiy Harsff o qorad
H gur duy afty & fafts gugl & dyol wrea #t qom o &l §

(1) 307l (2) HHdl
() HIX (4) ¥ Uid
Options :

92090639869. 1
92090639870. 2
92090639871. 3
92090639872. 4

Question Number : 69 Question Id : 92090610091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following emploved the idea of ‘Structural Strain’ in the context of
typology of deviance?

(1) Robert K. Morton (2) Sigmund Freud
(3 Eric Erickson (4) Emile Durkheim
Options :

92090639873. 1
92090639874. 2
92090639875. 3



92090639876. 4

Question Number : 69 Question Id : 92090610091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafifaa # @ i e & ureg Fffevo & el § WRa-rers o e &1 R wge
fpar 2

(1) € & HeA ) famn e
3) e e (4) Uuftreht gEgA
Options :

92090639873. 1
92090639874. 2
92090639875. 3
92090639876. 4

Question Number : 70 Question Id : 92090610092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following makes the distinction between Gemeinschaft and
Gesselschaft?

(1) Max Weber (2) Ferdinand Tonnies
(3 Emile Durkheim (4) Robert Redfield
Options :

92090639877. 1
92090639878. 2
92090639879. 3
92090639880. 4

Question Number : 70 Question Id : 92090610092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. Fofafad & 3 e Taege aur g # siar

(1) AR (2 WA
(3) el gEgH (4) &C vefbes



Options :

92090639877. 1
92090639878. 2
92090639879. 3
92090639880. 4

Question Number : 71 Question Id : 92090610093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is associated with Phenomenology?

(1) Harold Garfinkel (2y  Alfred Schutz
(3)  Erving Goffman (1) Roy Rappaport
Options :

92090639881. 1
92090639882. 2
92090639883. 3
92090639884. 4

Question Number : 71 Question Id : 92090610093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa & 9 &1 sxaydgare § gwefid § -

(1) ERias RGBS (2) SIS Wl
@) =i iuesng (4) g ¥urarE
Options :

92090639881. 1
92090639882. 2
92090639883. 3
92090639884. 4

Question Number : 72 Question Id : 92090610094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It is a system of manipulation by which an effect is sought through the action of
unseen powers and regardless of physical causality. It mayv be sympathetic and

contagious.

(1) Totemism (2) Magic
(3) Animism (4) Fetishiam
Options :

92090639885. 1
92090639886. 2
92090639887. 3
92090639888. 4

Question Number : 72 Question Id : 92090610094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Us Sodle &1 S0awyl ¢ SUH 3fevd Yfeadl & & ¥ quT IRite $RUE $1 1ae &
f&r 1, Ue uHTa U foban S € ae siede aun winfife € uear g

(1)  cleHare! (2) g
(3) oifgar (4) TGS
Options :

92090639885. 1
92090639886. 2
92090639887. 3
92090639888. 4

Question Number : 73 Question Id : 92090610095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following articles of the Constitution of India mentions that “The State
shall promote with special care the educational and economic interest of the weaker
sections of the people and, in particular, of the scheduled caste and scheduled Tribes
and shall protect them from social injustice and all forms of exploitation™?

(1) Article 42 (2)  Article 43
(] Article 46 (4) Article 29
Options :

92090639889. 1
92090639890. 2
92090639891. 3



92090639892. 4

Question Number : 73 Question Id : 92090610095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RATG dfaer & 11 9 sae # Iifed € & T59, T & 1ok a1 J Qafore ik
e fodl faga: srgfaa snfadl ok i s sfadl &1 fagy e @ ik 3%
oI 30 Ud 9t YR & Wor § WfEd @

(1) 3Jg 42 (2) 3G 43
(3)  SFEHG 46 (4) 3TEHG 29

Options :

92090639889. 1
92090639890. 2
92090639891. 3
92090639892. 4

Question Number : 74 Question Id : 92090610096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“The Quality of the services rendered by the smith, potter, washerman and the barber
depends on whether the customer pays annually in grains or not, on the quantity of
the grain paid, and on the customer’s general social position.”

Which of the following explain the above mentioned statement?

(1) Barter system (2) Service system
{(3) Patron-Client Relationship (4) Asiatic Market system
Options :

92090639893. 1
92090639894. 2
92090639895. 3
92090639896. 4

Question Number : 74 Question Id : 92090610096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"qeR, PR, Hidl a1 15 g1 Jarsfi & quraar 39 R R St 4 6 aes affe w0 3
3T &l § 1 el | 3fel fhT 1T 3F1e &Y Ul & YR W A1 AEH ) G i
UG & YR IR

U H 8 o 9 TRIed $Y- S AT A1 © -
1. fafrom sgawn
2. Yarsgaw

3. U3 - Uied ey
4, UMRMAE - F6R Sgaw

Options :

92090639893. 1
92090639894. 2
92090639895. 3
92090639896. 4

Question Number : 75 Question Id : 92090610097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MName the author of the book ‘What is Sociology™?

(1) Melvin Mi Tunin (2) Alex Inkeles
(3) T.B. Bottomore {(4) Anthony Giddens
Options :

92090639897. 1
92090639898. 2
92090639899. 3
92090639900. 4

Question Number : 75 Question Id : 92090610097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“gic 3ol ifRrardrel?” GEid & aad S ¢ 7

(1) Wafe o, egfe (2) Tehd Sy
3) ddl dem 4) uy= A
Options :

92090639897. 1



92090639898. 2
92090639899. 3
92090639900. 4

Question Number : 76 Question Id : 92090610098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Green revolution in India resulted in following consequences :
(A) Increase in Food production

(B) Migration of labour

(C) Social Inequality

(D) The development of indigenous agricultural knowledge

Choose the correct answer from the options given below :

(1) (B), (C), (D) only (2) (A), (B), (D) only
(3) (A, (C), (D) only (4) (A), (B), (C) only
Options :

92090639901. 1
92090639902. 2
92090639903. 3
92090639904. 4

Question Number : 76 Question Id : 92090610098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



yRd ¥ gfta »ifa & w1 ufvomm w2
A ERIIARA A IS

B. it &1 uary
C. 9SS rEaHd
D. <Xt PN 3 &1 fawm

1 fu o faweul 9§ 9ef Iuged IR &1 994 Diford ;
1. $4ddB,C,D
2. H4AA B,D
3. $ddACD
4, FAUA, B, C

Options :

92090639901. 1
92090639902. 2
92090639903. 3
92090639904. 4

Question Number : 77 Question Id : 92090610099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following features characterizes class?
(4) Common economic condition
(B) Common status
(C) Common occupational prestige

(D) Common Life Style

(E) Common Religion

Choose the correct answer from the options given helow :

(1)  (A), (C), (D), (E) only (2) (A), (B), (C), (D) only
(3)  (A), (B). (D), (E) only (4) (B), (C). (D), (E) only
Options :

92090639905. 1
92090639906. 2



92090639907. 3
92090639908. 4

Question Number : 77 Question Id : 92090610099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e o & 1 3 oy e Y e €2
A TAF S aw
B guH ufqwsl
C Y9 samEfs ufam
D  gHFuH
12 o T famedl 7 9 9ed U IO &1 94 Siferd -
1. HadA C D, E
2. $adA,B,C D
3. ®dd A B,D,E
4, $AdB,C,D,E
Options :

92090639905. 1
92090639906. 2
92090639907. 3
92090639908. 4

Question Number : 78 Question Id : 92090610100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following characteristics are correct about modernization?
(A) Rational Thinking

(B) Secular Ideas

(C) Scientific Temper

(DY  Faith in Old Tradition

Choose the most appropriate answer from the options given below :

(1) (A), (B), (D) only (2) (B), (C), (D) only
(3) (A), (B), (C) only (4) (A). (C). (D) only



Options :

92090639909. 1
92090639910. 2
92090639911. 3
92090639912. 4

Question Number : 78 Question Id : 92090610100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFra & 3 o 4t fadward snyfeteo & aR A vd @2

A dife O
B gy fue faar
C GEIECIRSH Cf

D Y g H fayr

< fau o fass et 1 @ el Juged I &1 94 Sifeld ;
1. A A BAD
2. HEABCAD
3. $auA BAC

4. ddA CdD

Options :

92090639909. 1
92090639910. 2
92090639911. 3
92090639912. 4

Question Number : 79 Question Id : 92090610101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the coneept in List I with the associated ideas in List 11 :

Concept Explanation
(A) Slavery (I} Pollution and Purity
(B) Caste (IT) Economic States
(C) Class (IIT) Socialism
(I} Classless Society (IV) Master Slave

Choose the correct answer from the options given helow:

(1) (A)-(D), (B)-(I), (O)-(11D), (D)-(IV)
(2)  (A)-aV), (B)-(II), (C)-(IID), (D)-(T)
(3 (A)-(IV), (B)-(I), (C)-(1L), (D)-(III)
(4)  (A)-(1ID), (B)-(ID), (C)-(I), (D)-(IV)

Options :

92090639913. 1

92090639914. 2

92090639915. 3
92090639916. 4

Question Number : 79 Question Id : 92090610101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 1 & Ty g 1 e S

Gell-1 (3r@urom) et 11 (erem
(A) <IHdl () UGHOT g gl
(B) il ay  onfie 'R
€ o iy gHES
(D) aRfgd gHTE (v) I - g
2 fou e fawedt # | WEl W &1 9a- i

(1) M)-(), (B)-(1D), (C)-(111), (D)-(1V)
(2)  (A)-0V), (B)-(D), (C)-(I1L), (D)-(I)
(3)  (A)-(IV) (B)-(D. (C)-(11). (D)-(I11)
4)  (A)-IID, (B)-(ID), (C)-(D), (D)-(IV)

Options :



92090639913. 1
92090639914. 2
92090639915. 3
92090639916. 4

Question Number : 80 Question Id : 92090610102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match the authors in List I with their books in Last IT ;

Authors Books
(A) 5.C. Dube {(I) Themes and Perspective in Indian
Sociology
(B) Yogendra Singh (IIY' Modernisation of Indian Tradition
(Cy M.N. Srinivas (IIT) Indian Society
(I D.N. Dhanagore (IV) Social change in Modern India

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(II), (C)-(IV), (D)-(I)
(2) (A1), (B)-(I1I), (C)-(I), (D)-(IV)
(3) (A, (B)-(D), (C)-(II), (D)-(AV)
(4)  (A)-(IV), (B)-(I1D), (C)-(D), (D)-(1I)

Options :

92090639917. 1
92090639918. 2
92090639919. 3
92090639920. 4

Question Number : 80 Question Id : 92090610102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & oraep! & g 1 H It fhdrel 9 e Y

T dEs Tt -1 gEds
A) Tadigd () R Us grRafdeq 39 $fSga o
(B) = g ) HEATEONH i $fETE efgwm
(€ THUE. fifas ay e AaEd
(D) ST YHTR (v) Hrere 9= 39 TreA gfem
a1 feu e faw et # 9 T8t IR &1 994 Fifoe:

(1) (A)-(1L1), (B)~(1L), (C)-(IV), (D)-(I)
(2)  (A)-(ID), (B)-(I1D), (C)-(D), (D)-(IV)
(3) (M-I, (B)-(D), (C)-(11), (D)-(1V)
4)  (A-IV), (B)-(I1D), (C)-(D, (D)-(II)

Options :

92090639917. 1
92090639918. 2
92090639919. 3
92090639920. 4

Question Number : 81 Question Id : 92090610103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the laws/organisation in List I with the year of formation in List II :

Law/Organisation Year
(A) National AIDS Control (I) 2005

Organisation

{(B) Narcotic Drugs and Psychotropic (II) 1961
Substances Act

(C) Dowry Prohibition Act (III) 1985
(DY Protection of Women from (IV) 19492

Domestic Violence Act

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(II), (C)-(I), (D)-(I1I)
(2)  (A)-(ID, (B)-(ID), (C)-(I), (D)-(IV)
3 (A-D, (B)-(II). (C)-(IL), (D)-(IV)
(4)  (A)-(V), (B)-(ITI), (C)-(II), (D)-(T)

Options :

92090639921. 1
92090639922. 2
92090639923. 3
92090639924. 4

Question Number : 81 Question Id : 92090610103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl | & S G-I BTG 1 P T34 a9 I e o

dt-1 - BT/ R et -1 af
(A) TP TEE AgE SR (I) 2005
(B) TAR®ICH T R HAmE et fuf g () 1961
(€ <o Fuy sftfaam () 1985
(D) B f& | nfger wemor sifafay (V) 1992

e fau U fad el # ¥ gl IR &1 994 S

(1) @-AV), B)-(D), (O)-(D), (D)-(11D)
2)  (A)-(ID), (B)-(I1D), (C)-(I), (D)-(IV)
(3) (A, (B)-II), (C)-(LD, (D)-(IV)
(4)  (A)-(IV), (B)-(I1D), (C)-(11), (D)-(1)

Options :

92090639921. 1

92090639922. 2

92090639923. 3
92090639924. 4

Question Number : 82 Question Id : 92090610104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most important features of the caste system are:
(A) Authorty

(B) Social and Religious Hierarchy

(C)  Heredity Occupation

(D) Taboos

(E) Mobility

Choose the correct answer from the options given below :

(1) (A), (B), (D), (E) (2) (B), (C), (D), (E)
3) (A, (B).(C), (E) (4) (A), (B), (C), (D)
Options :

92090639925. 1
92090639926. 2



92090639927. 3
92090639928. 4

Question Number : 82 Question Id : 92090610104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ST & Had Hewayu fasivdT €

iR
graTfores U uififes uareEH
. 3afie soaar

qol

HIGEIRGI

413 fau v fawet 7 ¥ el IR &1 9T Fife:

(1y (A, (B), (D), (E)
(2) (B (C), (D), (E)
(3) (A), (B), (C), (E)
(4) (A (B), (C), D)

mpr“um):-

Options :

92090639925. 1
92090639926. 2
92090639927. 3
92090639928. 4

Question Number : 83 Question Id : 92090610105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 1s the author of the book “Castes : Old and New"?

(1) Andre Beteille (2) M.N. Srinivas
(3 M.N. Panini (4) Dipankar Gupta
Options :

92090639929. 1
92090639930. 2
92090639931. 3
92090639932. 4



Question Number : 83 Question Id : 92090610105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
" HRCE: IS US ' TKF & add DI 67

1 3= afed

2 U U difa

3 UH.EA uifor

4 SIgiH T
Options :
92090639929. 1
92090639930. 2

92090639931. 3
92090639932. 4

Question Number : 84 Question Id : 92090610106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The middle value in a series of numbers, the point that neither exceeds nor is
exceeded by more than 50 percent of the total observation?

(1) Mean (2) Average
(3) Median {4y Mode
Options :

92090639933. 1
92090639934. 2
92090639935. 3
92090639936. 4

Question Number : 84 Question Id : 92090610106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et @t saan &1 quE, a8 fovg & 78 Tear ¢ ofk A € oa siadieHl § 50 ufowd ¥
3fUFH Fem

1 HI
2. g
3. Aifera

4. dgcd
Options :
92090639933. 1
92090639934. 2
92090639935. 3
92090639936. 4

Question Number : 85 Question Id : 92090610107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Capitalism is an economic system in which resources and the means of producing
goods and services are privately owned. Which of the following are not necessarily a

feature exclusive to capitalism?

(1) Private Ownership of Property
{(2) Informalisation of work
(3 Pursuit of Personal Profit

(4) Consumer Sovereignity and Free Competition

Options :

92090639937. 1
92090639938. 2
92090639939. 3
92090639940. 4

Question Number : 85 Question Id : 92090610107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090639937. 1
92090639938. 2
92090639939. 3
92090639940. 4

Question Number : 86 Question Id : 92090610108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match the groups in List I with the states they are primarily found in List 11 :

Groups List I States List I
(A) Konds (I) Uttar Pradesh
(B) Kotas (I) West Bengal
(Cy Bhotias (II1) Tamilnadu
(D) Bhumijs (IV) Odisha

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(I), (C)-(ILL), (D)-(IV)
(2) IV), (B)-(I1I), (C)-(D), (D)-(I)
(3) )-(IV). (B)-(I1), (C)-(I), (D)-(ILI)
(4) fﬁ} D), (B)-(II}, (C)-(I1L), (D)-(IV)

Options :

92090639941. 1

92090639942. 2

92090639943. 3
92090639944. 4

(
A)-(
A)-(
(

Question Number : 86 Question Id : 92090610108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) @IS 1)  IWRU™
(B) e ay  ofEH s
(© ifea any  dfieArg
(D) YT v) IS
I fou mu fawed 7 @ w4 SR &1 9 Fif

(1) (A1), (B)-(D), (C)-(11D), (D)-(IV)
(2)  (A)-(IV), (B)-(L1L), (C)-(1), (D)-(11)
(3)  (A)-AV), (B)-(1D), (C)-(D), (D)-(11T)
4) (A1), (B)-(ID), (C)-(I1I), (D)-(IV)

Options :

92090639941. 1
92090639942. 2
92090639943. 3
92090639944. 4

Question Number : 87 Question Id : 92090610109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A powerfully negative social label that radically change a persons self concept and
social identity 1s called

(1) Stigma (2) Labelling
(3) Deviance (4) Stereotype
Options :

92090639945. 1
92090639946. 2
92090639947. 3
92090639948. 4

Question Number : 87 Question Id : 92090610109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090639945. 1
92090639946. 2
92090639947. 3
92090639948. 4

Question Number : 88 Question Id : 92090610110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A  society dependent on communication and information technologies for
administration and control processes and which result in the close monitoring of
evervday life?

(1) Network Society (2) Surveillance Society
(3) Penal Society (4) Information Society
Options :

92090639949. 1
92090639950. 2
92090639951. 3
92090639952. 4

Question Number : 88 Question Id : 92090610110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U T, ol YA ay1 FHd=or ufseansi & e Ju9o gy IHert de-te i) Ak € aun
U1 uiyum e ofta @ e afefor g -

1 9dcded  9UNW
2 At T
3 E3THS gH
4 = THT
Options :
92090639949. 1
92090639950. 2

92090639951. 3
92090639952. 4

Question Number : 89 Question Id : 92090610111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Functionalist analysis identifies following of the major functions of family:
(A) Socializing the voung one's

(B) Regulating Sexual Activity

(C) Transmitting Social Placement

(D) Providing material and emotional support

(E) Strengthening division based on class, ethnicity, race and gender

Choose the most appropriate answer from the options given below :

(1) (B, (C), (D), (E) only (2} (A), (B), (C), (D) only
(3)  (A), (C), (D), (E) only (4) (A), (B), (D), (E) only
Options :

92090639953. 1
92090639954. 2
92090639955. 3
92090639956. 4

Question Number : 89 Question Id : 92090610111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. i fafafedi ux fdzm
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1. &ddB,CDE
2. $EdABCD,
3. $ad ACDE
4. %ad ABDE

Options :

92090639953. 1
92090639954. 2
92090639955. 3
92090639956. 4

Question Number : 90 Question Id : 92090610112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the coneepts in List I with their definitions in List IT :

Concepts Last [ Definitions List I1

(A) Totalitarianism (I) A political system in which power is
exercised by the people as a whole

(B) Authoritarianism (IT) A political system in which a single
family rules over generations

(C) Monarchy (IIT) A political system that restricts
participation

(D) Democracy (IV) A political system that extensively

regulates peoples lives

Choose the correct answer from the options given below:

(1) (A)-aD), (B)-(II1), (C)-(IV), (D)-(I)
(2)  (A)-(II), (B)-(IV), (C)-(II), (D)-(I)
(3)  (A)-(IV), (B)-(I1I), (C)-(ID), (D)-(T)
(1) (A)-aD, (B)-IV), (O)-(III), (D)-(D)
Options :

92090639957. 1

92090639958. 2

92090639959. 3

92090639960. 4

Question Number : 90 Question Id : 92090610112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-AD, (B)-(I1D), (C)-(AV), (D)-(D)
2) (AL, (B)-(IV), (C)-(11). (D)-(T)
(3)  (A)-(V), (B)-(111), (C)-(11), (D)-(I)
(4)  (A)-(1D), (B)-(IV), (C)-(111), (D)-(I)

Options :

92090639957. 1
92090639958. 2
92090639959. 3
92090639960. 4

Question Number : 91 Question Id : 92090610113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are key features of the Industrial Revolution?
(A) It happened only because of the unsustainability of feudalism.
(BY The centralization of work in factories.

(C) Manufacturing and Mass production.

(D) Division of Labour and Specialisation.

(E) Wage Labour

Choose the correct answer from the options given below :

(1)  (B), (C), (D), (E) only (2) (A), (B), (C), (D) only
(3) (A, (B), (D), (E) only (4) (A), (B), (), (E) only
Options :

92090639961. 1
92090639962. 2
92090639963. 3
92090639964. 4

Question Number : 91 Question Id : 92090610113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. %dd ABDE
4, Had ABCE
Options :

92090639961. 1
92090639962. 2



92090639963. 3
92090639964. 4

Question Number : 92 Question Id : 92090610114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who coined the term “Ecology™?

(1) Robert E. Park (2) Allan Schaniberg
(3) Dunlop and Catton (4} Ernst Haeckel
Options :

92090639965. 1
92090639966. 2
92090639967. 3
92090639968. 4

Question Number : 92 Question Id : 92090610114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090639965. 1
92090639966. 2
92090639967. 3
92090639968. 4

Question Number : 93 Question Id : 92090610115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following 1s known to be the proponent of communicative action?
(1) Anthony Giddens (2) Pierre Bourdieu
(3 Michael Mann (4) Jiirgen Habermas

Options :



92090639969. 1
92090639970. 2
92090639971. 3
92090639972. 4

Question Number : 93 Question Id : 92090610115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frg frfed & @ S sifteafdadta & weards & &0 & S i @
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) fagyarfey
(3) HEHd HH
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Options :

92090639969. 1
92090639970. 2
92090639971. 3
92090639972. 4

Question Number : 94 Question Id : 92090610116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Charles Tilly which of the following are features of a social movement?

(A) They develop public campaigns, getting organized to make collective claims on
targetted audiences.

(B) They threaten to bring down the government.

(C) They combine whole repertoire of political actions, ranging from public
meetings, processions and rallies through to demonstrations petitions and the
creation of special purpose association.

(D) They display and present themselves to the public as good causes and worthy
people.

Choose the most appropriate answer from the options given helow :

(1) (B), (C), (D) only (2) (A), (B). (C) only
(3)  (A), (C), (D) only (4) (A), (B), (D) only
Options :

92090639973. 1



92090639974. 2
92090639975. 3
92090639976. 4

Question Number : 94 Question Id : 92090610116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. $AAALCD,
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Options :

92090639973. 1
92090639974. 2
92090639975. 3
92090639976. 4

Question Number : 95 Question Id : 92090610117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Some of the key features affecting the religion in contemporary times across the world

are:

(A) A limited, partial secularization is continuing the twentieth century trend

towards a secular age.

(B) There is a declining interest in the mainstream traditional world religious and

attempt to revive and attract wider group of followers.

(C) The growth of fundamentalism alongside ‘the clash of civilisations’ which
results in more and more religiously linked conflicts, culture, war and even

genocide.
(D) The development of a wide range of new religious movements.

(E) The development of a new institutional (may be post modern) form of religion

such as cyber temple and mega churches.

Choose the correct answer from the options given below :

(1)  (A), (B), (D), (E) only (2) (A), (B), (C), (E) only
(3) (A (B), (C), (D) only (4) (A), (C), (D), (E) only
Options :

92090639977. 1
92090639978. 2
92090639979. 3
92090639980. 4

Question Number : 95 Question Id : 92090610117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090639977. 1
92090639978. 2
92090639979. 3
92090639980. 4

Question Number : 96 Question Id : 92090610118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the sociologists in List I with their associated concepts in List I1:

List I List 1T
{(Sociologists) (Concepts)
(A) Pierre Bourdieu (I) Risk Society
(B} Michael Foucault (I) Time-Space Compression
(C) Anthony Giddens (IIT) Surveillance
(D) Ulrich Beck (IV) Cultural Capital

Choose the correct answer from the options given helow:

(1) A1), (B)-(II), (C)-(I1L), (D)-(IV)
(2)  (A)-(I), (B)-(IL), (C)-(IV), (D)-(T)
(3)  (A)-(ID), (B)-(I), (C)-(1I), (D)-(IV)
(4)  (A)-(V), (B)-(III), (C)-(II), (D)-(T)

Options :

92090639981. 1
92090639982. 2
92090639983. 3
92090639984. 4

Question Number : 96 Question Id : 92090610118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090639981. 1
92090639982. 2
92090639983. 3
92090639984. 4

Question Number : 97 Question Id : 92090610119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The philosophical theory of knowledge — of how we know, what we know, 1s known as:

(1) Ontology (2) Epistemology
(3) Phenomenology (4) Metaphysics
Options :

92090639985. 1
92090639986. 2
92090639987. 3
92090639988. 4

Question Number : 97 Question Id : 92090610119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) R (2) TR
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Options :

92090639985. 1
92090639986. 2
92090639987. 3
92090639988. 4

Question Number : 98 Question Id : 92090610120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following i1s known to be associated with the Study of Crowds?

(1) Erich Fromm (2) Eric Erickson
(3) Jacques Lacan (4) Gustav le Bon



Options :

92090639989. 1
92090639990. 2
92090639991. 3
92090639992. 4

Question Number : 98 Question Id : 92090610120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090639989. 1
92090639990. 2
92090639991. 3
92090639992. 4

Question Number : 99 Question Id : 92090610121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who can be associated with the statement?

“Power is not inherently in particular institutions or situations or individuals; rather

it is our perception of the matrix of forces in operation that we recognize as power”.

(1) Antonio Gramseci (2) Max Weber
(3) Michael Foucault (4) Steven Lukes
Options :

92090639993. 1
92090639994. 2
92090639995. 3
92090639996. 4

Question Number : 99 Question Id : 92090610121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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The baby lamb known as Dolly was born in UK on 5% July 1996. Her claim to fame
was that she was cloned. Once the issue of animal cloning has been proved possible, it
is but a few steps to the issue of Human cloning. Although at present most
government oppose such development, there have already been maverick scientist
who claim to have cloned people. Dolly died in 2003, but the issue she raised continue.
They are:

(A) Environmental
(B) Ethieal
(C) Religious

(D) Political

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (A)and (C) only
(3)  (A). (B), (C) only (4) (B), (C), (D) only
Options :

92090639997. 1
92090639998. 2
92090639999. 3
92090640000. 4

Question Number : 100 Question Id : 92090610122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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Options :

92090639997. 1
92090639998. 2
92090639999. 3
92090640000. 4



